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Function Domain Range
y=sin""x [~1.4]

y=cos 'z [-1.1) (0,7
y=cosec x| R-(-1.1)
y=sec'x | R-(-1.1) |n_.1|—?E_I
y=tan'x 7 {_"‘]
y=cotrx R (0,x)
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tan x ot x ==

cosec™x +sec™ly =~

— sin~'(-x)= —sin”'x ,x€[-1,1]

I tan~!(-x)=—tan"'x ,xER

H cosec™ (—x) = —cosec™'x,|x| 2 1

= = 1
cos ™t x = sec™? (—)
X,

H s (-x)=mr-cos'x ,xE[-1,1]

M sec”i(=x)=m-sec™ x,|x| 21

-| cot™H(-x)=m—cot™ x ,xER
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Reci|
Identities

sintx+sinty = sin"‘(x\,- 1-y2+ /1 —xl)

where either x? + y* < lorxy <0

Sum & differsnce of

function

sintx—sinty= sin"‘(x\,u'l -y -yvl- x3)

where gither x> + y2 < lorxy >0

Trigonometric sim.m) ( Same important
i e h i results

—‘ cos(sin™' x) = V1-x2

costr+cosTly = cus“(zy— V1-x21 _},z)

ifx+y<0

cos(tan™z) = —

cosTtr—cosTly = cos'l(x}' +V1-x%1- }r‘)
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M tan(cos ™' x) = ——

ifry<1

tanlx+tanly = tan"’( 2

H sinfcos™'x) =

x4) )
1-xy/ -

sinftan™x) = =—

tan™!

ifxy>-1

r—lan'l}'Etan"('_

x-y )
Hxy/

tan(sin"tx) =

e -1(1
sin™ x = cosec™ |-

=F - 1
tan™! x = cot ‘(;) x>0

=L'()1'“‘{-E)—rr;x<(]

2sin~tx = sin™!(2xV1 - x2)

2cos ' x =cos™H(2x% - 1)

2tan™!

ebanit B eraed e
x=tan —= =sinT — = cos
1-x 1+x
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3sin~!x =sin"}(3x — 4x*)

3cos™x = cos™1(4x3 - 3x)

3tan~lx=tan

_q1 -2}
1-4x2

tan™? (—%) =sin™? (l)
val-x? a




